John 1:1
John 8:57


 is the inferential use of the postpositive conjunction OUN, meaning “Therefore” plus the third person plural aorist active indicative from the verb EIPON, meaning “to say: they said.”


The aorist tense is a constative/historical aorist, which views the entire past action as a fact.


The active voice indicates that the Jews produced the action.


The indicative mood is declarative for a simple statement of fact.

Then we have the nominative subject from the masculine plural article and adjective IOUDAIOS, meaning “the Jews.”  This is followed by the preposition PROS plus the accusative of place from the third person masculine singular personal use of the intensive pronoun AUTOS, meaning “to Him” and referring to Jesus.
“Therefore the Jews said to Him,”
 is the accusative direct object from the neuter plural cardinal adjective PENTĒKONTA plus the noun ETOS, meaning “fifty years.”  This is followed by the temporal adverb OUPW, meaning “not yet.”  This is followed by the second person singular present active indicative from the verb ECHW, meaning “to have.”  The idea here is something like: ‘you have not yet [attained] fifty years’, which can be translated “of temporal circumstances with indications of time and age: you are not yet fifty years old Jn 8:57.”


The present tense is a descriptive present for what now exists.  This could also be regarded as an aoristic present, describing the present state of being as a fact.


The active voice indicates that Jesus produced the state of not yet being fifty years old.


The indicative mood is declarative for a simple statement of fact.
“‘You are not yet fifty years old,”
 is the additive use of the conjunction KAI, meaning “and,” followed by the accusative direct object from the masculine singular proper noun ABRAAM, meaning “Abraham.”  Finally, we have the second person singular perfect active indicative from the verb HORAW, which means “to see: You have seen.”

The perfect tense is a consummative perfect, which emphasizes a past, completed action.


The active voice indicates that Jesus has supposedly produced the action.


The indicative mood is an interrogative indicative, which is used in questions that can be answered by providing factual information.

“and You have seen Abraham?’”
Jn 8:57 corrected translation
“Therefore the Jews said to Him, ‘You are not yet fifty years old, and You have seen Abraham?’”
Explanation:
1.  “Therefore the Jews said to Him, ‘You are not yet fifty years old,”

a.  The Jewish unbelievers in Jerusalem at the temple respond to the statement of Jesus with another incredulous rhetorical question of hatefulness.

b.  The Jews declare something that is true—Jesus is not yet fifty years old.  They knew his exact age because His date of birth and family registry was recorded in the temple in Jerusalem, when He was brought there for baptism, eight days after His birth, Lk 2:21-22.

c.  Jesus was only thirty-three or thirty-four years old at the time, Lk 3:23.  This fact was not disputed by Jesus, which indicates the truthfulness of the Jews’ statement.

2.  “and You have seen Abraham?’”

a.  The Jews clearly recognize that Jesus has stated that He was alive when Abraham was alive on earth and saw Abraham face-to-face.  There is no misunderstanding of the words of Jesus.  The words of verse 56 implied that there was a face-to-face conversation between Jesus and Abraham, and the Jews picked up on that implication.  This means that Jesus was asserting that He was the person who appeared to Abraham in Gen 12:1; 15:1; 17:1.  This is what Jesus meant by what He implied and the Jews understood exactly what He meant.

b.  “The reply of the Jewish audience indicates that they understood the verb to see in a most literal way.  Our Lord does not correct them in this notion.”


c.  Notice that from the antagonistic Jewish viewpoint the importance is on Jesus having seen Abraham, not that Abraham has seen Jesus, the God of Israel.  Had the Jews believed in Jesus they would have said that Abraham saw Him.


d.  The question is not one searching for information, but is an indirect statement of disbelief.  These Jews did not believe that Jesus had ever met and talked to Abraham.  For if this were true, then Jesus was the God of Israel as He claimed.  And therefore, He was also the God of Abraham, Isaac, and Jacob as He claimed.  And they then were those who wanted to murder the Son of God.  Therefore, there was no way these Jews were going to believe that Jesus had seen and spoken to Abraham.


e.  “Abraham had lived more than two millennia earlier; Jesus could not possibly have seen him.  They also twisted His words; the Lord had not said that He had seen Abraham, but that Abraham had (prophetically) seen Him.”
  It wasn’t so much that the Jews twisted the words of Jesus.  Rather they understood the implication of what Jesus had said.


(1)  “The question of the Jews rests on a correct conclusion, namely that if Abraham actually saw the day of Jesus, Jesus must have seen Abraham.”



(2)  “The Jews realized that verse 56 goes beyond a mere deduction from the Scriptures; it implies that Jesus observed Abraham’s faith and hope in him, hence their shocked question.”
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